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• F [M22 :2] has only one blo
k, i.e. the prin
ipal blo
k B1 of defe
t 8.
• P ∈ Syl2(M22 :2), Q ∈ Syl2(M22)

• NM22:2(P ) = P = NM22:2(Q).
• The simple F [M22 : 2]-module D(140)22:2 has vertex Q, the remaining simple moduleshave vertex P . Their Green 
orrespondents and their sour
es, respe
tively, have thefollowing Loewy stru
tures:module D(1)22:2 D(10)22:2 D(10)∗

22:2
D(34)22:2 D(98)22:2Green 1 10 10 34 98= sour
elayer dims. 1 1, 2, 1, 2, 1, 1, 1, 2, 2, 3, 3, 5, 4, 2, 5, 6, 9, 10, 12,

1, 1, 1, 1 2, 1, 1, 1 5, 4, 4, 2, 2 12, 12, 10, 8, 6, 3, 2, 1module D(140)22:2Green 140layer dims. 1, 4, 7, 10, 13, 15, 17,

17, 15, 13, 11, 8, 5, 3, 1sour
e 70layer dims. 1, 3, 4, 6, 7, 8, 9,

8, 7, 6, 5, 3, 2, 1The simple F [M22 :2]-modules have Brauer 
hara
ters:
D(1)22:2 = F ↔ ϕ1, D(10)22:2 ↔ ϕ2, D(10)∗22:2 ↔ ϕ3,

D(34)22:2 ↔ ϕ4, D(98)22:2 ↔ ϕ7, D(140)22:2 ↔ ϕ5.
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